Honors Physics -1st Semester Review Sheet
Name:  

Vocabulary

Scientific method

Observation

Hypothesis

Control variable

Independent variable

Dependent variable

Model

Theory

Scientific law
Distance

Displacement

Speed

Velocity
Vectors and vector components

Average acceleration

Acceleration due to gravity

Projectile motion

Force

Mass

Weight

Inertia

Normal force

Newton's laws

1st law

2nd law

3rd law

Net force

Free body diagram

Kinetic friction

Static friction
Coefficient of friction

Problems

Know how to use conversion factors

Solve problems using kinematic equations with constant acceleration x & y direction (pg. 27)

Vector addition

Projectile motion problems (equations pg. 56)

Newton's law problems (F=ma)

Friction problems

Elevator Problems

Typical Text Problems

Ch 1 - pg. 16-18 #1-4, 7, 10, 12, 13, 15, 16, 19, 20, 21, 22, 24, 26, 27, 29
Ch 2 - pg. 39-44 #1-4, 7, 9, 10, 11, 14, 15, 18, 21, 22, 24, 25, 26, 27, 33, 35, 37, 47, 48, 56, 57, 77
Ch 3 - pg. 65 - 71 #1, 2, 4, 9, 10, 17, 18, 20, 21, 22, 27, 31, 55, 60, 63, 67, 68
Ch4-pg.98 - 105 # 1, 2, 6, 7, 8, 9, 10, 12, 13, 16, 19, 20, 21, 25, 26, 28, 36, 37, 43, 47, 48, 52, 55, 61, 69, 70, 78, 86, 88, 
Essay Topics

Use vocabulary words to answer essay question

Design Lab Procedure -Identify control, independent and dependent variable

Newton's laws

Projectile Motion

Friction

Draw Free-Body Diagrams

Internet Site: www.northwoodschool.org/mattroy
Tutorials, animations, demonstrations and other good stuff

Formulas and Conversion:

1 gal = 3.78 L
1 mile = 5280 feet = 1.609 km

1 cm = 0.394 inches
Kilo = 103
Centi = 10-2
Milli = 10-3
1 hr = 3600 seconds
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V = ∆x/∆t
a=(Vf-Vi)/t
g = -9.8m/s2
v=v0+at
x=x0+v0t+1/2at2
v2=v02+2a(x-x0)
x=y
a = g

F=ma
W = mg
Ffr= μFN

FR=maR
aR=v2/r
T=1/f
v=2πr/T
Earth’s Radius = 6.38 x 103 km
Earth’s Mass = 5.97 x 1024 kg
G=6.67 x 10–11 Nm2/kg2
F=Gm1m2/r2
Work = F D
KE = ½ mv2
PE = mgy
KE1+PE1=KE2+PE2
P=W/t
1 HP=746 Watts
Spring PE= ½ kx2
Spring force F=-kx
_1159288907.unknown

_1159288908.unknown

_1159288734.unknown

